Math 122 - Test 2 Mar 2 2011

Question 1: A particle moves along a line with velocity function v(t) = 3t* — 2t + k metres per second where
k is a constant.

(a)[4] Determine k if the average velocity of the particle over the time period [0,5] is 15 metres per second.

-

S
—‘—S st At = (S

) o
3
il [Z’C,- &1+%+]S: [
> ¥ X o
s
20 +H =T

%:*YS

(b)[2] Using the k value determined in (a), determine the total displacement of the particle over the time
period [0, 5].
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(c)[4] Again using the k value determined in (a), is there a time t; > O at which the total displacement will
be zero?
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Question 2:
(a)[3] Determine g’(1) where
3x+1
g(x) = / sin (£7/4) dt

2x

g‘(x) = S [ (3x+|)l_\“§_ ] (3) - Sin [(32‘)21—;{‘;] (x)
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(b)[3] Determine/tanx!n(cosx)dx = y 5_“_‘/\1_, A (LOS 7(\ A\
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(c)[4] Evaluate /01 k\/l —xdx
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1
Question 3 [10]: Evaluate / (x*+1)e ™ dx
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Question 4 [10]: Determine /x3\/9 — x?dx

Le/“f X = 3 SinG
Ax = 3 cos & Agr
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Question 5 [10]: Determine /mdx
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o A+B= o0 = #A=-B
YA-B+tC=2y = C=25+0B-94 = a5 +58B
4A-cB~3c =0 = 4(B)-6P-3(25+58) =0
4B —CB~-Fs ~I5§ =0
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